57

TSR PRI FRER



e

% =N = AT =
B EnEERESTUREEROME
1 Bk (HEAZ: )
SERIRKE R N2 B AT AR
(4 F44E3 1 31 H HAE) (B FI3AE3 A 31 H BUE) (%)
BREDHD
DiLEh & P 56,141,644 48,404,827 7,736,817 16.0
[ P 0 0 0 —
ITBUYPE 0 0 0 -
Y e 0 0 0 -
Gt/ 0 0 0 -
A7 TEE 0 0 0 —
Y — R 0 0 0 —
Y7 =T 0 0 0 —
TERR AR B 0 0 0 —
V7 NU = T E 0 0 0 —
FEZOMOENE 0 0 0 —
BHEDOHA R 56,141,644 48,404,827 7,736,817 16.0
=ik
DBl EE 10,970,304 10,512,564 457,740 4.4
[iE] 2 AL 0 0 0 —
AEOHEE 10,970,304 10,512,564 457,740 4.4
AEBR M PE DA 45,171,340 37,892,263 7,279,077 19.2
2 {TEa ARG R E (HAZ: )
INTF N AN H S
Fl é\%fg?ﬁﬁgi 1A E %1;11@25% 1A PERAE i%\f)@zgi
[ s A 4$3ﬂ31EIJ { Segil 3$3ﬂ31EIJ (%)
TBURA 2,983,326,540 2,946,140,863 37,185,677 1.3
TB#EH 2,976,979,662 2,956,211,508 20,768,154 0.7
ITBU S ERR 6,346,878 10,070,645 16,417,523 163.0
ZEION 1,121 1,126 Ab N0.4
Sxrm# H 0 0 0 —
SR S ERR 1,121 1,126 JANS) N0.4
U SGERR 6,347,999 A\10,069,519 16,417,518 163.0
FERII N 1,507,100 980,500 526,600 53.7
i FillE= gzt 576,022 0 576,022 o
RERIIN S 2548 931,078 980,500 A\49,422 Ab.0
YA S ERE 7,279,077 /9,089,019 16,368,096 180.1
3 Fyvlia-To—iHEE (BENZ: )
A iR PAS iin
i %yggﬁ% LA G %;]%225% LH bR ﬂgﬁﬁ$
[ s A 4%3)1315} { A 3$3H31EIJ (%)
{TBCY— B ATREILA 2,975,609,001 2,941,963,889 33,645,112 1.1
TBCY— B ATRE) S H 2,967,824,265 2,946,776,977 21,047,288 0.7
{TBCY— B ATREIN S 240 7,784,736 A\4,813,088 12,597,824 261.7
FL2 AR S5 B VGBI 0 0 0 —
FL2 B AR S BTG B S 0 0 0 —
FL B AR S5 BN BN S AR 0 0 0 —
BTG BN A 0 0 0 -
FASTE ) 3 0 0 0 -
FRBSTE BN S 2R 0 0 0 —
WA R 7,784,736 A\4,813,088 12,597,824 261.7
AITARFE > B O ik 18,108,405 22,921,493 A\4,813,088 A21.0
FEERU S 25,893,141 18,108,405 7,784,736 43.0
S 3R X K 58




EEMER(RUASHEERS

AF4E3H 31 H

&T)

HifE

(BAL - )

B H

o

& H

G REDE

{;IL@J/%FK
H4ATES
Mﬂﬁﬁ
Bl AR
PRIBEHI AR
Z DU AT
AR Y4
FEFENT 4
M BGREE AL 4
el 4
e
R 5124 4>
Z DAFRENE PE
Il [ & & e
1 ATEUE
() FEEEFE
i 1
[s27)
TAEW
SEAR
s e
(2) T [ & & pE
2 3@ pE
() FIEEEFE
i 1
[=27)
TAE®)
SEAR
s e
(2) T [ & pE
3 HEY)N
A4 7T KR
(D) BHIZE €& pE
+
L DIAk
(2) MEFR [ 78 PE
51 —AERE
67 0T
7 BRI E
8 V7 by = TIREIE
9B Z DM OEE
HAMRESR M OV & 4
A AMRES:
HE 4 - 4
EMEfe
R 5124 4>
= DOt EHE
FABTE A
Tek A B4
FrE B YRR
TERETE 4
T O FE %

56,141,644
25,893,141
41,280,260

0

41,280,260

0
A11,031,757
0

OO DO DD DD DD O OO OO OO DO OO OO OO OO OO OO OO OO oo o oo

%%E%
FOAE AN A
U — 2
R4
HHB[Y44
= Ot Eh A
I [ & A&
I XA
E%WAA
) — 2 {EH
IREAG G5 2 4
Z OEEAE

10,970,304
9,972,600

4=V

ik

T

+

10,970,304

EBRI PE DS
IEBRRA PE
(9 5 IEBR M PESEI8UER)

45,171,340
7,279,077

1E Y PE D E S 5T

45,171,340

EPEDEA T

56,141,644

BUE K OUESRI PE DA 5T

56,141,644

59

TSR PRI FRER



THIXNTES (RESHEERSE)

H SM34FE4H1E ~ £ SF44E3H31H (BT - )
B H & KA
UL S O
[ 17BN DO
1 4TBU A 2,983,326,540
5 I X 0
bililoy A=) 0
)7 51 5 0
MR DX B R A A5 4 0
F DA A4 0
o 1,685,426,000
[E] Ji. 32 HH 4 0
W 4 0
Oy P4 N VA 4 0
5 R OV Ok 5,700
A PEI N 0
FEILA 82,894,840
T4 0
PN 1,215,000,000
Z OAMATEUA 0
24T B 2,976,979,662
NG 21,710,514
Wit 108,795,753
HEFF IS 2 0
7k =4 0
i Bl 2,816,645,357
& ey 0
HE 4 - HfR 4 0
M4 17,798,577
TR A 1 E 0
S A i B 0
EN S GIET N YN 11,031,757
1B 5| 2 A AR 0
R R YN | 997,704
1Nk 5-5 | 24 sk A BH 0
Z OMATEE 0
[FrEd =R 6,346,878
11 &I 32 D
1 AR 1,121
7 FUOR] R M OVE 24 4 1,121
2 &R A 0
eI X AEF] 1 0
HERI X AR I T 0
= D A AR % 0
K= 1,121
TR S ERR 6,347,999
FEBIIL S D
1 BRI 1,507,100
[ & & PETT AL 0
Z DRI A 1,507,100
2 % 576,022
[& & FETE IR 0
[ & PEFRANR 0
SKEEIAT 0
EN St 576,022
HHEHE R 0
Z DRI E 0
B S %8 931,078
N 4 7,279,077

FHBERE PRI R

60



Fryla-J0—xEE (RIShEERRE)

H SMm3fF4H1H0 ~ £ SF44E3H31H (HEA7 2 M)
B B & B B & M
[ 478 — & A58 1AL Al 5 P T )

L AFECH — B ATEBIA 2,975,609,001 1 A AR S R B 0
NG 0 [ o 2 H 0
eI B 0 6] o 52 1 0
Hi 15 38 5B 0 W4 0
7 A Ao 4 0 Sy LA R OV 4 0
O 1) K S B R A ) 4 0 YN 0
Z DA 4 0 FAPEILA 0
[ 5 1 0 FARE TR EAM A 0
W b 0 HEEAL 0
SEBIA 2,975,607,880 PR 4 0
R 1,677,707,340 Wl 0
L4 R OV L 4 0 T R 0
o P BH I OV H0RH 5,700 TR P R 0
FAPEILA 0 b4 A 0
HAON 82,894,840 Z DAL S EAREE G 0

SIS 0 TEBILA
AL 1,215,000,000 2 A AR S IR B H 0
I TN 1,121 2 AR 3 H 0
= BUR]E M OV 24 4 1,121 Wy iH- 0
21TE— B ATRE 2,967,824,265 fHiBh e 5 0
1TBCE 2,967,824,265 BB B 0
N2 22,721,778 A4 0
Wy iH-e 108,795,753 PR 4 0
HEFERIE R 0 Wl Ha 0
L 0 e R A 0
L 5 2,818,508,157 TERRTE ) JL 4 0
BT 0 Bh 4 - G4 0
HE 4 R 4 0 i 0
A 17,798,577 4 0
G 0 HiE 4 R 0
R X AR T AT R 0 R 0
T OMEAEFIF O M o At s i G im BN 2 2548 0

=
%iéjéﬁu;ﬁ%%iﬂj 8 ITEARE S v = 7o —IU K 7E4H 7,784,736
B — & AL BN A4 7,784,736 || mmasiEs)

1 BB IR B A 0
1| X A 0
ST AN TIN 0
YN 0
Z Ot A &% 0
o MR B 0
Nt 0
STy 0
Z O AR 0
e R 0
IR o 7,784,736
BIAEE 7> b DR 4 18,108,405
TN 25,893,141
61 SRISERE PR EBHHE



OVE TLI'SH £20'T60°61 0 0 0 0 0 €1£°692°79 BN b
- P (H3be)
LL06LT"L LLO6LT°L 0 0 0 0 0 0 - h
(5725 0 i
EERS TG
0 0 0 0 0 0 0 0
MR @2
¥l
0 0 0 0 0 0 0 0 g
o Il
¥l
0 0 0 0 0 0 0 0 N
H B
LL06LT L LLO6LT°L 0 0 0 0 0 0 B RA S
£92°268°LE 01T°€LE°92V 0 0 0 0 0 €L€°G92°%9 fel X I H
5
/\HV
& 57
& (e, il i) PR
= & |& i NO) L ¥
[igte | M N & H =
2 il E A H = 177
< @ 44 i B % H( 4
x S2 =2 = 4% E8) |
HoW oy
(b ) HIeHeHikd F ~ HIHVvHEWS H

(ESHEAZHEHP) SR EEZH ERWT

62

*

ii

FHSERE PRI



32

K L0 £4

LFLN LA

HB L LA )

P HEAR

(=) Beh Bel Bl =2 R=]

(=} Beh el Bl =2 E=]

(=} Beh el Bel =2 R=]

(=3 Bl Bl Bel =2 R=]

(=} H=l Bel Hall E=] =)

(=) Bl Bel Bl =2 E=]

(=) Beh Bel Bl =2 R=]

H Ly

5[ 2

)

HE Y — (0

Yo ram

EEE

HB L)

Wy

A

¥

)T

28

-

P ER

Erh

N

)T

EE

-

(=3 =l Rell ol Bol E=2 E=2 =) el el el Bl Bl Nl =2 Rk Rl Re)

(=3 Rl Rl el Bel E=2 K= =) el el el el el Bl E=2 =2 =k i)

(=3 Rl Rl el Bel E=2 E=2 =) el el el el el Bl E=2 =) =) i)

(=3 Rl Rel Hell Bell E=2 K= =) el el el el el Hel E=2 E=2 =) i)

=l F=ll Fo2 =2 k=l k=l =) Bol Nel Hel Be)l Bel Nl Jol Fol B=2 =] =)

(=3 Rl Bl Holl Bel =2 E=2 =) el el el el el Nl E=2 =2 =) i)

(=3 Rl Bl el Bel E=2 K= =) el el el el el Bl E=2 =) =k i)

H Ly

HBDEHE

B

¥

bilif=4
<z
RE
meg

Uy B

e

K4
&

®

1

i

=
Juing

(Hd * ¢

(S HZ EHEHHE

By EHEE(H H B X E AN Y HE LE

HE

*

i

TSR PO X

63



